PDP Geometry & Adv. Alg. 140 Name: k]j/\,
Quiz, Graphing Quadratics & Factoring Vi Date: 0 Pd:

I.  Answer the following questions about the function: f(x) = —2x? —12x + 3

L

(1 pointy . What is the name of the graph of this function?

What is the orientation (direction of opening) of the graph of this function? d@[&:}},_l B ¢ ILTE :

(1 point) b
(1 point) c¢. Does this function have a minimum or maximum value (select one)? I E"\..CL)}L
(1 point) d. What is the y-intercept of this function? f ) O (b 3 Q))
S ! -
(2 points) € What is the equation of the axis of symmetry of this function? K Cald ?)
@3 pomts) f. What are the coordinates of the vertex of this function? [ e ?) L Z\ \

£3) - 2(-2)* 1263043 L(3)=2| °
H3)=—2 @) +2e 3

(3> -\ + o +3
-? po‘at) g. %hat is the minimum or maximum value of this function? 2\

/10
2. Graph the equation y = x% — 4x + 4. Be sure to include the vertex, intercepts, and at least two other specific points.
(You don’t have to use the whole t-table, but may find it helpful to do so.) .
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(1 point) a. How many solutions / zeros / roots does it have? @’ ’jk,o\
(2 points) b, Estimate the solution(s) / zero(s) / root(s) L?, 4 D )E\FS( = 2 i



Factor. (4 points each)
o (x)
3. 6b°—5b—4 _
b33 D
2 (3-4)r! Bb)
\orst20t)

Solve. (4 points each)
5. 4x* —-36x+72=0

(2 ax+19)
4 (x-3Yx-L)=0

X-3=0 X0
x=3 Xz

Bonus: Special Products (+2 points each)
7. 5x?* +.x— 100 = 350 +.x"— 3x?

Bx>-450=0
9 (12-225F0

/8

6. 4a? +26a = 3a — 15 (x) ”} 1
U2 42230 H5=0
W2 1900430, HS=0 2087|2013

tal0+5) +3(045)70

/8

8. 93x2 — 42x + 30x3 +.15 = /1,5’

30C A3 42x=0n) |1
3x(0c+ 21~ 4)=0"1E 4 21
Ax (\Dxl 135x-4-14)=0 35|

3)():5' o (2T U2t ) )=0 \L/\;O
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Answer the following questions about the function: f(x) = —3x2 —=12x +2

(I'point) a,  What is the name of the graph of this function? m\_\{ ¢

(1 point) b, What is the orientation (direction of opening) of the graph of this function? dﬁ_@’\ WY ﬂ&/

(I'point) ¢ Does this function have a minimum or maximum value {select one)? W&M

7
(I'point) 4 What is the y-intercept of this function? 2— by~ (_O# %3 X = ll

20
(2 points) e. What is the equation of the axis of symmetry of this function? X =21 . 7
| 2
x= 1%
(3 points) £, What are g'le coordinates of thzerte\c of this function? L l l L{) ..\\_ X -7
v -y ' -\——
)= A 2L L=y
Q2)= —) i+ -
%‘g Nz — \2- A 22
(I point} g What is the minimum or maximum value of this function? LL‘{ :
/10

2. Graph the equation y=x% + 6x + 9.  Be sure to include the vertex, intercepts, and at least two other specific points.
(You don’t have to use the whole t-table, but may find it helpful to do so.)
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(I'point) a3, How many solutions / zeros / roots does it have? (B{ lL»\_

(2 points) b. Estimate the solution(s) / zero(s) / root(s) { "5,!2 ) L}t X':—:' ’5

f1o



Factor. (4 points each) Oﬂ) XC_")

" I aeR g Jiy
4 (\w +Q>J Q\o(%b~6)+!(5b’5) IO(B)J Ok
O @W)O—}OH)
Solve. (4 points e =
5. 3x%—24x+36=0 6. 5a? + 40a = 2a — 21 (20 \(—l—)
’:3( 2 Bx+12)=0 S0 +330421=0| 105 | 3¢
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Bonus: Special Products (+2 points each)
7. Sx% +x —100 =350 + x — 3x? Bmx +15=15 (X) U,
U —Hsp=0 30x” +93x"-4Ax =0 |3\
2 (4% 225)=0 A [Iox 42\x - 41 = Olips
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